8

7

Materials of Construction

Housing Epoxy Coated Cast Iron ASTM A126 grade B
Handwheel Epoxy Coated Stamped Steel (or Painted Ductile Iron)
Sleeves Heat Treated Carbon Steel

Worm & Shaft

Plated Carbon Steel ASTM A108

Segment Gear

Ductile Iron ASTM A536 grade 65-45-12

Hardware

Plated Carbon Steel

Lock-Out Device

Plated Carbon Steel

4 x m2xn2
) . ) h
Isometric View WIthOU_t Handle o V dept
(Optional Lock-Out Device Shown) Note 1: On most sizes, this plate can @QO 4 x mixnl
Scale 1:3 be inverted so padlock will hang on 2 1 T depth
the side of the gearbox instead of on top. x
D ! 3
0DSQ J—f M
_ _
B B N | \
® | X
N '& X X
I o
4 = e i—T = ®
! [T H- I ]
C ) LHITH®
* E
+ !
ISO 5211 Mounting Pad
QDF Scale 1:3
Optional Lock-Out Device
Note 2: F25 mounting pattern has
8 x threaded holes.
B e - - Rim .
Part Referencel A | B |C | D | E | IF| Id| I H|Torque| Gear | IBCD1 1BCD2 ISO  |DSQ Weight
Number Size | (in) | (in) | (in) | Gn) | Gn) | (in) [(mm)| Gin) | (in-lbs) | Ratio | (mm) mixnlV¥ depth) % 5" m2xn2 ¥ depthlyounting| mm ggsl)l (Ibs) ’—-—\\
GO-01-1SO | 1ij"84" |1.69|3.16(2.12| 3.9 |1.02(2.95| 12 | 6 | 1330 |40:1| 50 M6x1.07 10 70 M8x1.25V 14 | FOS5+F07 | 11 | 27 | 2.8 Max-Ailr J
i
GO-02-ISO | 5"86" |2.49|3.64|2.25| 5.8 (1.16/2.95| 12 | 6 | 2200 |37:1 70 M8x1.257 16 - - FO7 17 | 33 | 56 \ TEGHNDOLOGY
GO-03-ISO | 8'810" |2.38/4.66|2.51| 8.4 |1.44|4.00| 15 | 10 | 4425 |42:1 70 M8x1.257 17 102 M10x1.5V¥ 17 | FO7+F10 | 22 | 40 | 115
GO-04A-1SO 42:1] 102 | M10x15725 | 140 M16x2T 20 | F10+F14 Max-Air Technology, Inc.
12-14" |2.63|6.51(3.08| 8.3 |1.73]4.00| 20 | 12 | 8850 27 | 67 | 22.2 751 Hoff Road
GO-04B-ISO 42:1| 125 M12x1.75%7 22 - - F12 O'Fallon, MO 63366
GO-05A-1SO 60:1| 125 | M12x1.75727 | 165 | M20x2.57 23 | F12+F16 NavE | oAt (888) 842-9998
16"818" |3.49|7.86(3.42(11.1|1.96|4.00| 20 | 16 | 15900 46 | 61 | 40.8 e « lasa] WwWw.max-airtechnology.com
GO-05B-I1SO 60:1| 140 M16x27T 25 - - F14
GO-06A-ISO 68 6 20x2.57 2 6 = TiLE
-06A-| 1| 165 M20x2.5V 25 - - F1 Max-Air GO Series Gear
20" 4.98/10.1|3.86/13.5/2.00(6.00| 30 | 16 | 30090 46 | 91 | 78.1 ENG APPR. : :
GO-06B-ISO 68:1| 140 M16x2V 25 - - F14 MFG APPR Operator Dimensions w/
Optional Lock-Out Device
GO-07-1SO 24" 6.05(12.4(3.99/14.4/1.99|6.00| 30 | 16 | 39825 |88:1| 165 M20x2.57 25 254 M16x2V 22 | F16+F25| 46 | 91 | 101 PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED IN THIS
GO-08 28030" |1.97|12.2|5.16(18.7|call|call| call | 16 | 69900 (184:1| 165 call 254 call F16+F25 | call | call | 171 AR o Ber e SIZE |DWG. NO. REV
REPRODUCTION IN PART OR AS A WHOLE
GO-09 36" [3.74|14.2|6.54/19.9|call[call| call | 16 | 89395 |250:1| 254 call 298 call F25+F30 | call | call | 238 WITHOUT THE WRITTEN PERMISSION OF B MAXAIR-GO-ISO 20
MAX-AIR TECHNOLOGY, INC., IS
GO-10 40" 9.45|18.5|6.22|26.6|call| call| call | 20 | 146030 | 720:1 298 call 298 call F25+F30 | call | call | 408 PROHIBITED. SCALE: 1:5 |WE|GHT: | SHEET 1 OF 1
8 7 6 5 4 3 2 1




	Model
	Drawing View2
	Drawing View3
	Drawing View5
	Drawing View6
	Drawing View7


